2 NDE ALGEBRE

Résoudre les inéquations :

121. a. 3x-4<4x+1;
b.2(3x-1)+3(3x-2) > 2.
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122.a.4(x 3= 4(x+2).

3%-2)>2-52+3)
WG| LW\ TS IR
3(2x 2|>2 5x+5
x+ 1 3x-1
R B T SR b 3
4 3 4
pr-1,1_2x 3
10 2 5 10
124. 2. 22 <9 ; b.x2 >4 ;
c.x2=-1; d x2<-2.
125. a. 2 > 100 ; b.x2=-2;
c.x2<2 . d. 22 =-100.

126. 2. (x+2)(x-5)=<0; b.(2x-3)(x+5 >0.
127, a. (-3x+4)(2x+6) = 0 ;
b. 4x+5)(-x-2)<0.
128, a. (-x+4)(-3x-4)=<0;
1

b. 7(—x—§)(§x—4)$0.

129, a. —2(x+1)(—x—§) i
b.x(-5x+4)>0.

130.a. (x-Dx+1)(x-2)<0;
b.2x2x+1)(3x-4)(x+2) = 0.

131 a. (x+1)° (22 -1)<0;
b. (x+2)(x-3)° > 0.

132, 2. 2%2(-3x-4)=0; b (3+x2)(x-2)(-x+4)=0.
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